TemBreak

@ Innovators in Protection Technology

% EREAE /INSTRUCTION MANUAL

/—=ka—-X7L-%
Moulded Case Circuit Breakers
PE30-NF PS30-NF
PE50-NF PS50-NF
PE60-NF PS60-NF
PE125-NF
ALy FTF4RAARI 4
Switch Disconnector
PE30-NN
PE50-NN
PE125-NN

ARBEAEIE, ERICEDHDBF T TAPICHREL TT IV AFISERTVEVEIRL,
RUBSEBRWNCE>TELBBEICEAL T B I—IEEEEVEEA,

Please retain this manual for future reference. The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application

of the instructions provided herein.

STSESEERANSL
T547-0002
KBRTFEXINERE-13-47
TEL 06-6791-2756

FAX 06-6791-2732
http://www.terasaki.co.jp

TERASAKI ELECTRIC CO.,, LTD.
6-13-47 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL +81-6-6791-2763

FAX +81-6-6791-2732
http://www.terasaki.co.jp

kiki-info @ terasaki.co.jp int-sales @terasaki.co.jp

2G1418SAB(KRB-0868b)

AREEDZHEE

HET 5, 1257 - SARDANC, BFABEZDMOM BEIEL bHAEX BROMH T2 OB
#RCEBEEEOL TCBRL THLBIURL TV, ZOIURHAE CIt, BT EHED
S %R FEBIELTRALTHIET,

(ABBR] BRVE5E- 5 A0, BRA KRR BYA T RS2 L EEE S 5 A MY
BEESNBHE,

EESEBABERERENSRVAT, PREVEECEELSIS

FlEEtED BESh 3154,

£, ICRHLABETH KRR L > TREALBRICHEU D2UEAY HBIET,

WThLEBELARBTTDTLTFo>T T,

WETEDEE (RIS ELZBOFMTEIEHNSIOTEBBLTTEL)
A EE

OERTHWFERE (BRIEL) #T-TTE,

OS8R, 5 BEDER BAMHR, RS, HELCEFRBECHBELLVTTA,
KEDBRE L5724, EBICEIELEVSZADHBIET,

@I, I VMR UMEEDENRURMALEN TL—HREBICASEVLSIC
BILTTFEW KEDBREE L7, REED HTh I HYET

@ TIEEl, FRrTL—h%E%O (OFF) ICL, EBLTVEWZ EERBL TIT>T T,
BEBEOBZINIHNET,

@i F LU LY TREICHHITTIV, KEOREELAVET,

@it F LD IR U, TR ERL N
DSEVEINLTFE S FEBADBA A,
KED TP BIET

OXAEW I —HERADIRBARRIL, TL—HIkE
ETLTHBLTTEV BFNAUTHIEBSNA TS
BARDFEAL BB T— TS THTNUTEELDETIRIBL TT AV, R 94165
BB T B BTN BIET,

@7 — I HABHOUEISH BNTT —I ZR—R (1R IE8E) £+ HHIRL TTF AV, SEHI T
ERVEEDHIET,

BEREDERE

QUE FERICHMNEVWTTEV BEDH I HIET,

A ER
OB BTy T GEN) L7541, RREMUERLTASNAZRILE | (ON)IELT
TaEV KB (ERER) SEFMLLB A, TL—DERRLTTEV KKD
BINDBIET,

WEREF - AR EOERE FHRBENFOTEBRLTTEL.
AEE
@FRTF MR, EFIMMER T AP T T,
ORTF - BRI, £ TL—H%EEO (OFF) ICL, RBL LAV ZERREBL TT>T T AL,
BEOBIAPHIET,
@ T RUN, E R IHRERF (T bV T THULEDL TR EV KEDREEL)ET,

Wz D0z

CABREBED) —FRER> THEEVLAVWTTEV, BMENDRREAVET,

C TL—HDERGBDOHN-EREFEVTTEN MR RBEERIACEE L A

L —HIERTIBRCEREERBRICEL A MEBOODEFHAL T TV,
MEEP NSV E, FEBIERVBHRDEZNANIHNET,

CAMREREETHEXNE, EEREMELTRELTTE L,

[1] Safety Notices

Be sure to read these Instructions and other associated documents accompanying the
product thoroughly to be familiarize yourself with the product handling, safety information, and
all other precautions before mounting, using, servicing, or inspecting the product. In these
Instructions, safety notices are divided into "Warning" and "Caution" according to the hazard
level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property damage.
Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

HEMounting Precautions
(For detailed mounting dimensions, refer to the TemBreak2 catalogue.)

A\ Caution

@Electrical work should only be undertaken by suitably qualified persons.

@Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and
rainwater from entering product. These materials inside the product could cause a fire
or malfunction.

@Prior to commencing any work on the product, open an upstream circuit breaker or isolator to
ensure that no voltage is applied to the product. Otherwise, electrical shock may result.

@Even when tightening the terminal screws and
after conductor connection, do not apply excessive
force to the terminals. Otherwise, a fire may result.

@For front-connected breakers, Insulate all bare
conductors of the line side until the breaker end. If

circuit.

@When connecting cable or busbar to the product, tighten terminal screws to the torque
specified in this manual. Otherwise, a fire could result.

sure to use the barriers; moreover, insulate all bare conductors by insulating tape or the
like so that the tape overlaps with the barriers. Insufficient insulation may result in short-

interpole:
barriers

interpole barriers are packed, be

@Do not block the arc gas vents of the product to ensure adequate arc space. Blocking
these vents could result in failure of circuit interruption.

HMHandling Precautions

@Never touch terminals. Otherwise, electric shock may result.

A\ Caution

@When the breaker trips open automatically, remove the cause, then return the
handle to the I(ON) position. Should a fault be interrupted, the breaker must be
inspected. Otherwise, a fire may result.

HEMaintenance Precautions For the detail, refer to the TemBreak2 catalogue.
A\ Caution

@Service and/or inspection of the product must be done by persons having expert
knowledge.

@Before servicing or inspecting the product, open an upstream circuit breaker or the
like to isolate all sources of power. Otherwise, electric shock may result.

@Regularly check that the breaker terminal screws are tightened to torque values
shown within this manual, failure to do so may result in fire.

M Other Precautions

- Do not carry this product by accessory leads, as this may cause damage to the
product.

+ Unauthorised opening of the breaker cover will invalidate product warranty.

+ When installing the product, use wires or conductors, the cross sectional areas of
which accommodate the rated current of the product. Using wires or conductors with
inadequate cross sectional areas may cause false tripping and overheat.

+ When the device is to be disposed of, it should be handled as an industrial waste.

2] AEY—8 HELESTE Packaged ltems / Assembly Tools

=
EF) [t e
B ion |/ This document: 1
nstru

JL—h . .
Breaker 1 T /INUT (FCDH)
Interpole Barrier (Only FC)

|
|
|
|
|
|
|
| 2157
| TARARTZ
| Switch 2P: 1
| Disconnector 3pP: 2
|
|
|
|
|
|
||| & ARl # BHhL
1| Poles Qy Mounting screw Qty Connecting screw
: 2P| 2 2P| 4 N
" 15~50.
| EBUEC) o] 2 M4x60 @W P T M5 x 14
ron
| | Connection | 2P| 2 2P| 4 ~
M4 x 60 @W 60~125A | M8 x 14 P

: 3P| 2 X 3P| 6
|| BEFRC) |2P| 2 2P| 4 |15~50A |M6x22
|| Rear M 4 x 60 @M W

Connection | 3P| 2 3P 6 |60~125A | M8x23
|
| EMY(PM) | 2P| 2

Plug-in M4 x75 @M _
|| Connection | 3P| 2
Waamrr) |2p] 4 | 4 [15-50a [M6Ex22
1| Fiush Plate M5x 16 W W
| Where Applicable 3P| 4 3P 6 |60~125A |M8x23

[3] #fEEH{E Operating Instructions

Z

TRIPPED

iy

NIV
Handle

Ny T RG> N
Trip Button

BIE NRIVRTED
Operation Operation effort
O (OFF)=1 (ON) 25N
[ (ON)= O (OFF) 28N
TRIP= O (OFF) 44N

[4] AERTB MM ER  Fitting Internal Accessories 2 Pole

WEIXTYF  Auxiliary Switch
Teaxool |
ZA(vF _ Alarm Switch
T2ALOOL
BE5ISL TRBESISL
Shunt Trip Undervoltage Trip
TosHool| | Teuvool| |
*fTBROHES

* Symbols of Accessories

fiA&+ Combination

2 pole
mym @ o
| ON) 1.0~1.4N-m
i
[TTT L]
1ON) O(0FF)
— 10
O -
=l T1J
O(OFF) | ON)
101 T
il
O(OFF
101 AXOO00
AL FE1 D (E14420) B35, AL UL
ERPBIEBCIA G TREN, SH @ ic,
In case of fitting one (or two) auxiliary 4]
switch, fit in an order from a left sideslot.

- [FR&RBT IR, DTIERICBETDIEERBL TS, IEATI,
- After fitting, verify the function of the Accessory.

TAR5| E H UEBDMIE  Pull Out Leads on Load Side

1)><—7% Ring Mark

HHENZA v F BRI F
Auxiliary Switch Alarm Switch
alEm bl afEm | bR
a contact b contact |a contact | b contact

11/AXc-14/AXa | 11/AXc-12/AXb | 9T/ALc | 91/ALe
21/AXc-24/AXa | 21/AXc-22/AXb | 94/ALa | 92/ALb

BE5I5 LER RREES S LER
Shunt Trip Undervoltage Trip
power source power source
C1-C2 D1-D2
W4 L Removal




(5] AERHBMMDE R  Fitting Internal Accessories 3 Pole

fHAEE  Combination

LITTT L
| (ON) |(ON)
g [ e [ 'y
(L
O(OFF) O(OFF)
1M 1

3 pole

(OFF

| (ON)
e [ g
nn
O(OFF)
[

HBIAA v F &1 D (Fd20) BT 5354,
ERDSIREFICRAFF TS,

In case of fitting one (or two) auxiliary
switch, fit in an order from a left sideslot.

#EIRAYF  Auxiliary Switch

T2AX00L

E®/AAYF _ Alarm Switch

T2ALOOL

BE5IHNL RREEISL

Shunt Trip Undervoltage Trip

* *

T2SHOOL D T2UVOoOoL D
N ERORES

** Symbols of Accessories

Eif51 = H UEBMAE  Pull Out Leads on Load Side

AX @00
AL @[]
SH (@ [Act
uvoLg

J>%'<Y—7% Ring Mark

BNy F ZHA(VTF
Auxiliary Switch Alarm Switch

affm bim affm | b
acontact | bcontact |acontact|b contact

11/AXc-14/AXa | 11/AXc-12/AXb | 91/ALc - | 91/ALc -
21/AXc-24/AXa | 21/AXc-22/AXb| 94/ALa | 92/ALb

31/AXc-34/AXa | 31/AXc-32/AXb | 01/ALc - | 01/ALc -
41/AXc-44/AXa] 41/AXc-42/AXb| 04/ALa | 02/ALb

FEINLER AREESNUER
Shunt Trip Undervoltage Trip
power source power source
C1-C2 D1-D2

[6] A{AH{tE4E ZFEH Breaker Mounting Procedure for FC

M4 x60
13~1.7N'm

AERMAESE ZAH

Breaker Mounting Procedure for PM

c EARAE
13~17N'm Plug-in Base

T2PM12LT*

T2PM12LC*

#: 2 or 3 (1% Poles)

AFE{TESE AR Breaker Mounting Procedure for FP

g, 1@
1© 1@

I® §®

B

- BRI % BT ERCEET S eaRAL TS, SERA T, H
- After fitting, verify the function of the Accessory. ‘ 2G1418SAB(KRB-0868b)
[9] DINV=-IV P47 4 (£ 7av) EREHEEMS =@EMK-EIAK  Conductor Connection Procedure for RC/F.P (Where Applicable) 12 sF N 7R EE M3 #FH/N—RfHEE NYRIVEIVETR{TESE Handle Holder Mounting Procedure

DIN Rail Adaptor (Optional) 3 Pole

-
@ \\\\\\\\\

@‘\\)\\

15508 | O M5x14

E 23~28N'm
601250 O MBx 16
32~48N'm

M6 x22
47~74N'm
M8 x23
11.8~186N'm

15~50A

60~125A

11 k4 =58 XREF Conductor Connection Procedure for FC

G 16.5 mm

H 9mm

J | 165mm (14 mm)
K 6.5mm (9 mm)
L

M

5mm
9 mm max

=

‘ERAIOREERBIL, TL—HREETL THERL TT IV,
+Insulate all bare conductors of the line side until the breaker end.

i/ \—
Flat Bar

T2FB12L * SB

Terminal Cover
Mounting Procedure

Interpole Barrier
Mounting Procedure

wFNUT
Interpole Barrier

TPBA12:3%K
%12 or 3 (18 Poles)

- BALIBUS O FIBTITVET,
+ When removing, remove the items in
reverse order of mounting.

1@ ] *: 2 or 3 (183 Poles)

15504 [M5X14

23~34N'm

M8x14

60~ 125A 29-69Nm

M8 x 30

11.8~186Nm

& TN~
Connection|  Terminal Cover

EEP | T2CR12L#*S

i WFHI—
Connection Terminal Cover
RE (KE)

R (Lo’ng T;)e) T2CF12L*SLN
RER (INE)
FC (Short Type)

*:2or 3 (8% Poles)

T2CF12L*SSN

s BALIRBUF ORFIBTITOET,
+ When removing, remove the items in
reverse order of mounting.

OFF B
In case of OFF [

~ON B
case of ON

N RIVKRILE —
Handle Holder

TPHH12K

c B L BB OEFIRTITVE T,

Zf

+ When removing, remove the items in reverse order of mounting.

NeRpOy
Handle Lock

TPHL12K

™
U @
S\

15 "k y 7B+ ESE Handle Lock Mounting Procedure

max X 3 (¢5) f

* NARVEYTIE] (ON),O (OFF) L BNV T h THEfHI TEE T,

+ Handole look can be fitted in any position of | (ON) and O (OFF).
- IS U B O FIETITVETS
* When removing, remove the items in reverse order of mounting.




